
 

 

Answer on Question #53840 – Math – Calculus 

 The position of an object at time t is given by s(t) = -2 - 6t. Find the instantaneous velocity at t = 2 by 

finding the derivative.  

Solution 

 

                                              𝑠(𝑡) = −2 − 6𝑡.                                                                                    (1) 

According to (1), the first derivative of 𝑠(𝑡) with respect to 𝑡 is 

𝑠′(𝑡) = (−2 − 6𝑡)′ = (−2)′ + (−6𝑡)′ = 0 − 6 ∙ 1 = −6                                                         (2)                                                        

In (2) we used the following formulae:  

(𝑓(𝑡) − 𝑔(𝑡))′ = (𝑓(𝑡))′ − (𝑔(𝑡))′,  

(𝐴𝑓(𝑡))′ = 𝐴 ∙ (𝑓(𝑡))′, where 𝐴 is a constant, 

 (𝑐)′ = 0, where 𝑐 is a constant,  

𝑡′ = 1. 

Taking into account (2), the instantaneous velocity at 𝑡 = 2  is 

𝒗𝒊(𝟐) = 𝑠′(2) = −𝟔. 
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